
https://www.leads4pass.com/s10-201.html
2024 Latest leads4pass S10-201 PDF and VCE dumps Download

 

 

 

S10-201Q&As

SNIA Storage Networking Management & Administration

Pass SNIA S10-201 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.leads4pass.com/s10-201.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by SNIA
Official Exam Center

 

 

S10-201 VCE Dumps | S10-201 Practice Test | S10-201 Braindumps                                1 / 3

https://www.leads4pass.com/s10-201.html
https://www.leads4pass.com/s10-201.html
https://www.leads4pass.com/s10-201.html


https://www.leads4pass.com/s10-201.html
2024 Latest leads4pass S10-201 PDF and VCE dumps Download

QUESTION 1

A server administrator notices when a specific server is rebooted its SAN storage is sometimes visible and sometimes it
is not. After examining the SAN switch logs, no FLOGI message has been received on that port. Which HBA parameter
is a most likely cause? 

A. Port Link/Speed is set to Autonegotiate. 

B. WWPN reset timeout is set too low. 

C. R_A_TOV does not match. 

D. HBA Port Type is set to "EPort" 

Correct Answer: A 

 

QUESTION 2

A fourway cluster is attached to two fabrics. Each member has two HBAs connected to each fabric. Each fabric has two
subsystem connections. Each cluster member is a primary for one application. All LUNs appear on all storage ports with
workload equally distributed across all. Each host has two dedicated HBAs for tape that can each see four independent
LTO II (35MB/s) tape drives. All files are large and involve sequential I/O. Performance reporting shows a large read
pending at the host during multi threaded backup. What is the most probably cause for the large read pending at the
host? 

A. native command queueing 

B. SCSI Queue Depth too high 

C. SCSI Queue Depth too low 

D. throttling threshold is too high 

Correct Answer: C 

 

QUESTION 3

You have a single fabric with four servers connecting to an edge switch in a core edge configuration with single 2Gb/s
ISLs to the core. Each server has an average throughput requirement of 40MB/s. Under which circumstance would you
need to add a second ISL? 

A. to provide a redundant path 

B. to avoid congestion on the ISL 

C. to separate out FSPF updates 

D. to provide a management path 

Correct Answer: A 
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QUESTION 4

Identify the zoning object that is hardware enforced. 

A. alias 

B. E_Port 

C. zone set 

D. F_Port 

Correct Answer: D 

 

QUESTION 5

Which three (3) processes occur during a fabric merge? (Choose three.) 

A. TOV distribution 

B. zone set passing 

C. FSPF trunk distribution 

D. principle switch negotiation 

E. name server communication 

Correct Answer: BDE 
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